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Using Excel

H 0.03 m
density 995,21 Kg/m"3
u 0.001002 | Ne/m™2
L 0.15 m
q 9.506 /52
Re 100000
d al 2 Q 0.0000052
0.001 1003797 | 0.2182]  6.6208
0.0015 | 669193 0.2915] 29426 Turbulent Flow
0.002 50,1598 0353 1.6550
0.0025 | 40,1519 0.4193]  1.0593 190.0000
0.003 33, 1599 0.4752]  0.7356
0.0035 | £8.6799 05339 0.5405 100,0000
0.004 25 0949 05573]  0.4138
0.0045 | 223066 | 0.6388] 0.3270 50,0000 —
0.005 20,0759 06858 0.2648 Wim/s) 60,0000 S,
0.0055 | 18.0509 0.7573]  0.2189 5
0.006 16,7299 0.7846]  0.1839 10,0000
0.0085 | 15.4430 0.8307]  0.1567
0.007 14,3400 0.6759] 01351 20.0000
0.0075 | 13.3840 092011 0.1177 0.0000
0.00% 12 5475 0.9635]  0.1035
0.0085 | 118094 1.0062]  0.0916 e . ——
0,009 11,1533 1.0481]  0.0817 dCmrn)
0.0095 | 10.5663 1.0894]  0.0734
0.01 10,0330 113] _ 0.0662
0.0105 9 5600 11701] _ 0.0801
0.011 91254 12096 0.0547
0.0115 8.7287 1.0487]  0.0501
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Re

1.0000
60000
b, 0000
4.0000
Wfs)
3.0000
2.0000
1,0000

0,0000

Turbulent Flow

T

0

0,005 0,01 0,015
i)

Re 2000
Turbulent Flow
7.0000
6,0000
h,0000
10000 — 4
Wm/s) —
3.0000 )
2,0000 \
1,0000 f’i_

0,0000
0 0,005 0,01 0,015
diyom)




3% Using Matlab (fmincon) 3%

B Editor - C:WProgram FilesWMATLAB708WworkWi.m — - r———— - |
File Edit Test Cel Tools Debug Deskiop lifndow Help v X e > «0=[0.00.0.61 1
NeH ihBoa GHf BR BRE DB sucs: /| By

I function f=f(x) >5 w=tminconC 1% 11, 11, 11, 11, 11, 11, "confun’)

2~ f={pisx(1) (2]} /4 Yornina: Larse-ocalo (trust resion) aethod doss ot currentls solve this tume of arg
3 function [c,cea]=confun(x) 7 I fmincen et S0

4 - ¢l 1)=2000-998, 21+x( 1) +4(2) == |

B - cf2)=0.3164+( (998, 21+ (14w (2)/0.001002)" (1740 )+ (0. 18/ (1)) (x(2)"2/(2+9. B0B) ) o |

- cl3)=x(1) .

T- cld)==(2) -4, 241 2e-006

8- ceazl]

=

x| ~7.208e+0016

|

Mazimum number of function evaluations exceeded:
increase OPTIONS, MaxFunBvals.

=
1. 0e+005 +

¢ 3 T.1685  0.0000

f ¢ confun ln & Col N
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Laminar Flow Result

)4

H 0,03 il

density | 999,21 | Ka/m"3

u 0.001002 | Ne/m"2

L 0,15 il

g 9806 | mfs"?

Fe 2000

i g g2 o
0,001 | 20076 [0,0611 |6,6208
00015 | 13384 | 01374 | 29426
0,002 | 10038 |[02442 | 16552
00025 | 08030 |0.3816 | 1,0683
0,003 | 06692 |05495 | 0,73R6
0.0035 | 06736 |0.7479 | 05405
0,004 | 06019 09769 | 0,4138
0.0045 | 04467 |1.2364 | 0,3270
0,005 | 04015 | 16264 | 02643
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Optimum Solution

)4

|  =to | | == | AMLIEI 2 ™E=HEY,., | | E22HH) |
aH -=F 2| g iy
o 00035 A597 0,035
et 0, GO000A5 =
= E. 27EsE—06]| 0 000515
q 1 1. 0A97FE—0OE]| 17725 .11
gz —0 O0OSEEEE| —0 02975
LI 1.3 —0E]| 1, S4E—D5

f = 7DL =0.0016 (m?)
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